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Learning Outcomes Covered:
5F: I can subtract polynomials.

CONTENT Assessment Questions:

1. Use algebra tiles to model and find each difference. Sketch your tile model. Record your
answer symbolically.

(25> + 35+ 6)— (s> + s+ 2) b) (2s>+3s—6)— (s +s—2)
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C) (2s°+3s+6)—(-s’+s+2) d) (2s>—3s+6)—(s>—s+2)
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_~g+2§+4 =$-2S+4
2. Subtract.

a) (2x+3)—(5x +4) b) (4 —-8w)— (7w + 1)
=B O U = Y=t =W -]

= —3R—| 2 - | SWYS

C) (X2+2x—4)—(4x*+2x—2) d) (-922-z-2)—-(32°-12-13)
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=X -UX-2 = 27 2
e) (2a+3b-3a%+b?) —(-a’+8b?+3a-b) (Xy — X — 5y + 4y?) — (6y? + 9y — xy)

=20 43b-30 4 Ph -3 ath ) = AG AX-SP e (S99
= 20 -A-1lb +4b =20E X 2 -1
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CURRICULAR COMPETENCIES Questions:

1. A student subtracted (CmRp)
(3y? + By + 2) — (4y? + 3y + 2) like this:
=3y? -5y —2—-4y* -3y -2
=3y?—4y> _5y—3y—2-2
=y>-8y—4

a) Explain why the student’s solution is incorrect.
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b) What is the correct answer? Show your work.
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2. The difference between two polynomials is (5x + 3). One of the two polynomials is
(4x + 1 — 3x?). What is the other polynomial? Explain how you found your answer.(US, CmRp)

(lx+1-370) = (3x2) = SX+3.
T need 6 have XX added 5 X+ -3
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ONGOING LEARNING ACTIVITIES:

CORE: Page 234: Curricular Competencies: 10, 12, 16
Content: 6ac, 7ac, 8, 9, 13, 15
ADVANCED: Page 236: 17, 18




